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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Sentence Jumbles Questions Overview

Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Sentence Jumbles Questions.

Question

A sentence divided into 4 different segments is given below. These segments may or may not be in the correct sequence.
Rearrange these parts of the sentence so as to make it contextually and grammatically correct and mark the correct
option. In case of no arrangement, mark the option "No rearrangement required". (A) not remain legal tender. (B) defined
as a process by (C) Demonetisation is (D) which currency units will

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. dbca

2. abcd
3. cbda
4. dcab

5. No rearrangement required

Solution

The correct answer is option 3i.e. cbda.

Concept/Grammar

Application
Rule PP
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The given question
suggests finding the
correct arrangement
of parts forming a
coherent sentence.

The part that
introduces the
sentence is'c' as it
cites the basic and
primary idea of the
sentence.

The correct formation
of the sentence is:
"Demonetisation is
defined as a process
by which currency
units will not remain
legal tender."

Hence option 3 is
correct.
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